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The verse said; and you shall wash your clothes

OVERVIEW

X217 explained that even if we maintain 711 72°2 717, nevertheless the nn2 yan will
be 7vaw nXMY XY, because the 7710 writes ¥ 2w 01°2 027732 ano2ad), which teaches
us that anything which become Xnv through a n»n is X»v for seven days. NvoOIN
explains why even though we have this 7%, nevertheless we cannot revert to the
initial 1"p.

Moo asks:
- 299115 191290 5PN 99991 MNINN ON)

And if you will say; since we have this 7%°% (that all n» MRAW are NRAW XA

7vaw), so let us derive N2 yo1 nRM™1W through a v''p from 2°1vp 1725 as we initially
did —

mBDIN answers:
= NP 199 ¥yIYN NN 39NIT INNIVNT 990 v

And one can say; that the 702 means that for any n» nx»yw which is explicitly

written in the 770, the rule is that it is 7yaw nXMIWY RAY, but not for a I’MY which is derived
from a 1"p (such as n»2a yon nXM™IW which we initially derived from a 1"p) —
=99 bp}: 1929123 N9 XIVT ) by IN MY N2 1929954 NOYM

But now that we derive yo» nXmv by a n» through a @'t from 77, so even
though that yo w2 yon nX»1w we know from a Y''p, nevertheless -

119 YN *No1Ha 2N
It is considered as if N2 yon was explicitly written in the 7m0 and therefore the 712
of 131 ano351 applies to it that it must be 7Y2W NXAW XnMY.

SUMMARY

The 7% from anoad) that every N DML is AYAW DRI XAV is only regarding those
nn MXmMv which are written in the 7710 (or derived through a w'"13) but not a nRMA1Y
nn which is derived through a 1"p.

" The advantage is that we will not have to change the ¥n°12 (from n»2 yo7 to YW1 yon).
% The reason we rejected the 1"'p of o°1vp 1739 is because of 17 (that since the X717 of y57 is that it is y7w2 Xnwn, but
there it is only 27y nXmv, so by nn it should also only be 27y nXmv); however now that we have an explicit 109
which teaches us that every nn nXmv is yaw Xnaw, this will override the 1°7.
? See “Thinking it over’.
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THINKING IT OVER

It seems astounding that something which is derived through a 1"p (like yon from
1R 1°29) is not considered "»7T X772 21033, but something which is derived
through a w"m (like y97n) from something (y7w) which we know only through a 1"'p
(from 2°1vp 1°29) is considered 17 X772 nnoo!

* See ywiT "1, [When we derive nna yon through a "1 of 7131 732 from 77w it means that just as the 731 732 which
is mentioned by yw includes a yon (see also previous n"w 13"7 '0n [that 07°1w XY 07 TR 171ww]), similarly the T332
7w which is written by nn includes a yon. Therefore it may be considered X*7772 2102 since it is included in 71 732
However if we derive yo7 only from a 1"p there is no reason to include it in 711 722 so it is not ¥>772 21n2.]
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